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Precalculus Name: l.(c%\

Conics - Hyperbolas - Day 2 Notes Period:

Directions: Write an equation in standard form for each hyperbola. Use the graph to help you!
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2. Endpoints of transverse axis at (+4,0) ; Endpoints of conjugate axis at (0,+3)
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3. The endpoints of the transverse axis are (—2,—-3)and (—2,7) and of the conjugate axis are (-4, %)and (0,2)
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5. State the location of the center, the length of the semi-transverse and semi-conjugate axis, and write in

parametric form: ﬁ—y—z =1
;}6 25 Center: (0,0)
_ Semi-transverse : G
;(: Sbis:-caift Semi - conjugate:5

6. State the location of the center, the length of the semi-transverse and semi-conjugate axis, and write in

2 U0 conter: (2,-1)

parametric form:
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7. Putthe equation. 3x* —5y* —12x + 30y +42 = 0 into standard form by completing the square.
(3x?-12x) + (-5y? +30y)= -2
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8. Putthe equation. 4x’ — y* —32x+16y —128 =0 into standard form by completing the square.
(4x2-32)+(y? +l6y=128
_ b“" - +é+ “b"”
4(x2 -8x + 16.) - (y2 -loy + &) =128 L ==
4(x-1)* - (y-38)* =128
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